3000

1:20

5
8 +
N
N )
-0,1
-0,5
Werstoff /material: 1.4301 blank V4 Gesagt/Sawn
Masse 36,5 kg @/ )
Mass 36,5 kg Kanten/edges ISO 13715
Allgemeintoleranzen nach/ Oberflachenangaben nach/surface according to ISO 1302 | Lénge des kiirzeren Schenkels/
admissible tolerance to: NennmaB/nominal size < | LéngenmaBe/linear measure measure of short blade <
ISO 2768 - cK - E 0,5-3 6 30 120 | 400 | 1000 | 2000 | 4000 10 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | +0,3 | +0,5 | £0,8 |+1,2|+2,0| £3,0 | £4,0 D +1°30| £1° | £30' | £15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 2 1/ 1
Quadratrohr JE]@
square pipe

Stuckliste Pos.1

A4

- No utilisation, copying and/or distribution without author's consent.




45 5

21,44

5)
N

13,25
A
s
|

Ln 8
(@)}
. A
Werstoff /material: 1.4301 blank
Kontur nach 3D-Daten
Contour according to 3D data
Eingeschlossene Flache 0,25 dm?2 1 2
Umfang 311 mm -0,1
Masse 0,14 kg -0,5
Enclosed area 0,25 dm?2 ‘ﬁ Gelasert/Lasered
Circumference 311 mm ( Q/ )
Mass 0,14 kg Kanten/edges ISO 13715
Allgemeintoleranzen nach/ Oberflachenangaben nach/surface according to ISO 1302 | Lénge des kiirzeren Schenkels/
admissible tolerance to: NennmaB/nominal size < | LéngenmaBe/linear measure measure of short blade <
ISO 2768 - K - E 053] 6 30 | 120 | 400 |1000] 2000 | 4000 10 | 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | +0,3 | +0,5 | £0,8 |+1,2|+2,0| £3,0 | £4,0 D +1°30| £1° | £30' | £15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 1 1/ 1
Versteifung JE]@
stiffening

Stuckliste Pos. 2

A4

- No utilisation, copying and/or distribution without author's consent.




n O LN o o N
o — o™ LN o ©
® j -
0e
17 —t L
25 1 i* |
30 1 e [
A % Q
34 A ﬁ
65
&2
v
c
P 8
125
Werstoff /material: 1.4301 blank @
Kontur nach 3D-Daten
Contour according to 3D data @
Eingeschlossene Flache 0,54 dm?2
Umfang 460 mm -0,1 .
Masse 0,31 kg -0,5 1:2
Enclosed area 0,54 dm?2 ‘( Gelasert/Lasered
Circumference 460 mm ( @/ )
Mass 0,31 kg Kanten/edges ISO 13715
Allgemeintoleranzen nach/ Oberflachenangaben nach/surface according to ISO 1302 | Lénge des kiirzeren Schenkels/
admissible tolerance to: NennmaB/nominal size < | LéngenmaBe/linear measure measure of short blade <
IS0 2768 - cK - E 053] 6 30 | 120 | 400 |1000] 2000 | 4000 10 | 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | +0,3 | +0,5 | £0,8 |+1,2|+2,0| £3,0 | £4,0 D +1°30] £1° | £30' | £15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 1 1/ 1
Versteifung Kippfunktion JE]@
stiffening tilt

Stuckliste Pos. 3| A4

- No utilisation, copying and/or distribution without author's consent.




180 §‘>'_<, §‘>'_<,

150 i )

( 98,99 ) o
Q _

_—

180
150
(98,99 )
I
@ 70

Werstoff /material: 1.4301 blank 0
Kontur nach 3D-Daten Q 0

Contour according to 3D data P 9
Eingeschlossene Flache 3,22 dm?2 lp 1

Umfang 1107 mm -0,1 )
Masse 1,68 kg -0,5
Enclosed area 3,22 dm?2 Gelasert/Lasered
Circumference 1107 mm ( @/ )
Mass 1,68 kg Kanten/edges ISO 13715
Allgemeintoleranzen nach/ Oberflachenangaben nach/surface according to ISO 1302 | Lénge des kiirzeren Schenkels/
admissible tolerance to: NennmaB/nominal size < | LéngenmaBe/linear measure measure of short blade <
I1SO 2768 -cL - E 0,5-3 6 30 120 | 400 | 1000 | 2000 | 4000 10 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | £0,3 | £0,5 | +0,8 | +1,2|£2,0| £3,0 | 4,0 D H+1°30] +£1° | £30' | +15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 2 1/ 1
Grundplatte mit Verschraubung JE]@

plate for screws

Stuckliste Pos. 4| A4

- No utilisation, copying and/or distribution without author's consent.




180

150

D 16,5 (4x)

180
150
I

Werstoff /material: 1.4301 blank

Kontur nach 3D-Daten

Contour according to 3D data
Eingeschlossene Flache 3,22 dm?2

Umfang 900 mm

Masse 1,98 kg

Enclosed area 3,22 dm?2
Circumference 900 mm
Mass 1,98 kg

Kanten/edges ISO 13715

Gelasert/Lasered

()

Allgemeintoleranzen nach/
admissible tolerance to:

Oberflachenangaben nach/surface according to ISO 1302

NennmaB/nominal size < | LdngenmalBe/linear measure

Lange des kiirzeren Schenkels/
measure of short blade <

ISO 2768 - cK - E 0,5-3 6 30 120 | 400 | 1000 | 2000 | 4000 10 | 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | +0,3 | +0,5 | £0,8 |+1,2|+2,0| £3,0 | £4,0 D +1°30| £1° | £30' | £15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 2 1/ 1
Halteplatte JE]@
plate

Stuckliste Pos.5

A4

- No utilisation, copying and/or distribution without author's consent.




40

1000

Umfang 2145 mm
Masse 1,25 kg

Enclosed area 4 dm?2
Circumference 2145 mm
Mass 1,25 kg

Werstoff /material: 1.4301 blank
Eingeschlossene Flache 4 dm?2

Kanten/edges 1SO 13715

1:5

Allgemeintoleranzen nach/
admissible tolerance to:

Oberflachenangaben nach/surface according to ISO 1302

NennmaB/nominal size < | LdngenmalBe/linear measure

Lange des kiirzeren Schenkels/

measure of short blade <
ISO 2768 - cK - E 0,5-3 6 30 120 | 400 | 1000 | 2000 | 4000 10 50 | 120 | 400
Spanen, Umformen/chipping, forming| +0,2 | +0,3 | +0,5 | £0,8 |+1,2|+2,0| £3,0 | £4,0 D +1°30| £1° | £30' | £15'
Erstellt/created: Gepriift/verified: .
Tresselt M. Tresselt, M. 1 ' 2 1/ 1
Hebelarm JE]@
lever arm

Stuckliste Pos. 6

A4

- No utilisation, copying and/or distribution without author's consent.




(3016 )

1008

a4 -
2008
a4 A a4
O
a4 | —
a4 = CE
‘O 4
. a
374J
a4 O
-] O
1 10,5/ A '

SchweiBteil
Weld part

keine SchweiBnaht Nachbehandlung
no weld seam treatment

/Q \
% ¥
/
« &

A\

Masse 41,9 kg
Mass 41,9 kg

6 T 0
H
E == = 2R =N = A
D:L:i_:ﬁf = ==
——c ;}Kp b= E
E:L::f‘:i’ﬂ\¥ Jﬁi;—w—w
ST,
|
O O

Pos | Menge Benennung Werkstoff | Masse Materialstarke
Quantity Designation Basic material | (Menge)
1 1 Quadratrohr 80x80x5 1.4301 blank |36,5 kg |[HZ L=3000mm
2 6 Versteifung 1.4301 blank |0,84 kg [Laserteil t=8mm
3 4 Versteifung Kippfunktion 1.4301 blank | 1,24 kg [Laserteil t=8mm
4 2 Grundplatte mit Verschraubung | 1.4301 blank | 3,36 kg | Laserteil t=8mm

SchweiBangaben nach/welding procedure to ISO 2553 - System A

Allgemeintoleranzen nach/
admissible tolerance to:

Oberflachenangaben nach/surface according to ISO 1302

NennmaB/nominal size < | Ldngenmale/linear measure

Lange des kiirzeren Schenkels/
measure of short blade <

ISO 13920 - BF 2-30 | 120 | 400 | 1000 | 2000 | 4000 | 8000 | 1200016000 400 1000 >1000
SchweiBen/welding +1 | 2 | £2 | £3 | 24 | 6 | £8 | £10 | +12 D +45' +30' +20'
Erstellt/created: Geprift/verified: .
Tresselt M. 09.01.2021 15 1/1

SchweiBbaugruppe Oberteil
Welded assembly upper part

®

Stuckliste Pos. 2

- No utilisation, copying and/or distribution without author's consent.

A3




( 3008 )
a4 _ 1648 L 680 L 680 _
_ad 5‘9 (O O) F) O) (O O)
F—— ——— == == Bl S ————
a4 I —— ] ‘ ‘ ‘ ‘ ‘
fffffff B il P il plewiiwalvnliym e YU L —
Cad il A
f_O O O O O O O)
a4 / a4 a4 A a4
a4 O
O
77\ 77777 7| 1 — [ 1 — — !‘
1 10,5/ A '

SchweiBteil
Weld part

keine SchweiBnaht Nachbehandlung
no weld seam treatment

Masse 45,1 kg
Mass 45,1 kg

Pos | Menge Benennung Werkstoff | Masse Materialstarke
Quantity Designation Basic material | (Menge)
1 1 Quadratrohr 80x80x5 1.4301 blank |36,5 kg |HZ L=3000mm
2 2 Versteifung 1.4301 blank |[0,28 kg |Laserteil t=8mm
3 2 Versteifung Kippfunktion 1.4301 blank [0,62 kg |Laserteil t=8mm
4 1 Grundplatte mit Verschraubung | 1.4301 blank | 1,68 kg | Laserteil t=8mm
5 3 Halteplatte 1.4301 blank |5,94 kg | Laserteil t=8mm

SchweiBangaben nach/welding procedure to ISO 2553 - System A

Allgemeintoleranzen nach/

Oberflachenangaben nach/surface according to ISO 1302

admissible tolerance to:

NennmaB/nominal size < | Ldngenmale/linear measure

Lange des kiirzeren Schenkels/
measure of short blade <

ISO 13920 - BF 2-30 | 120 | 400 | 1000 | 2000 | 4000 | 8000 |12000|16000 400 1000 >1000
SchweiBen/welding +1 | 2 | £2 | £3 | 24 | 6 | £8 | £10 | +12 D +45' +30' +20'
Erstellt/created: Geprift/verified: .
Tresselt M. Tresselt, M. 1 ' 5 1/ 1

SchweiBbaugruppe Unterteil
Welded assembly lower part

®

Stuckliste Pos. 1

A3

- No utilisation, copying and/or distribution without author's consent.




6024

alle DIN/ISO Norm Teile in Edelstahlausfiihrung
all DIN/ISO standard parts in stainless steel

Menge Benennung
Quantity Designation

1 1 SchweiBbaugruppe Unterteil

2 1 SchweiBbaugruppe Oberteil

3 2 Hebelarm

4 1 Rolle D=90

5 3 6kt-Schraube M16x100

6 8 6kt-Schraube M16x40

7 2 6kt-Schraube M16x30

8 16 Mutter M16

L 9 32 U-Scheibe M16
10 12 Ankerstange M16x160
e e 1:20 1/1

Montagezeichnung Mast
Assembly drawing mast

Mast komplett

- No utilisation, copying and/or distribution without author's consent.

A3




